R:AClients\Steves and Sons - Permanent\B - Texas Dept of Ins\Drawings\TX-4565-68.dwg, TX-4565

STEVES AND SONS

203 Humble Ave.
San Antonio, TX 78225

STEVES

ARCH TOP GLAZED

WOOD TRUE DIVIDED LITE DOOR

INSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Wood Door described herein complies with the 2006 International Residential Code
(IRC), Sections R301 & R613 and the 2006 International Building Code (IBC), Sections
1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject to the following

conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies with
Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering

analysis.
TABLE OF CONTENTS
SHEET # | DESCRIPTION
1 Typical elevation, design pressures & general notes
2 Door panel & glazing details
3 Elevations
4 Horizontal cross section
5 Vertical cross sections
6 Frame anchoring
7 Bill of materials & components

11.825"

74.5" MAX. OVERALL FRAME WIDTH

98.5" MAX. OVERALL FRAME HEIGHT (INSWING)

s,
.
e,

: oo~
AN

37.75" MAX.
OVERALL
FRAME WIDTH

7N\

O O
O O
l@l ﬂ
OVERALL DESIGN PRESSURE (PSF)
CONFIGURATION FRAME G#“DZS INSWING
DIMENSION POSITIVE | NEGATIVE
X 37.5" X 98.5" Gl +50.0 -50.0
XX 74.5" x 98.5" G1 +50.0 -50.0

i
QR
-
a5
23
Eg &
£ n
0 . M
U)LL! M
0 F
W _.B
0 2
cC g o
0 X 0 e
T (S
Sk T
2 o ©
>mMm
oo
"
N
X
o
o
(@]
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

wn

=

a2

N

%) &
p <<
Rx =z

o

3 S=
ol |, Ei
= b <O
=N I

a8 |3 =
lﬁ'g 73] %]
] 0| o
= < <X
=0 el 82
o o
S o n
o = W
o o 1<
x -l< a

o o

>_

28]
)
=
o
2]
>
]
o

Lol

'_

<

()]

o

=z

oATE: 9/29/15

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4565

SHEET 1 oF 7

© 2015 R.W. BUILDING CONSULTANTS INC.



3\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Drawings\TX-4565-68.dwg, 2.1

7.31"

'l .7"

LATCH, HINGE STILE _

/"1 \ HORIZONTAL CROSS SECTION

2/

_ 36"MAXDOOR __,

PANEL WIDTH

96" MAX. DOOR PANEL HEIGHT

21.25"MAX.D.LO
WIDTH

(1N

\2/

] géx@

-
W

[~——-66.375" MAX. D.L.O. HEIGHT ‘J

[N
LR
NN

[0l

@ A

DOOR PANEL
Arch Top

T

5 TOP RAIL
3 a & - MID RAIL
w
/| 5/8'X41/2' DOWELS
(TYP.)
A N4
EXTERIOR INTERIOR

PANEL INSERT

y/i
@/( 4

/" 2"\ VERTICAL CROSS SECTION

N2/

7“3\ VERTICAL CROSS SECTION

\2J/

0.5" GLASS BITE
BACK BEDDING COMPOUND

11/16" THK. GLASS

| e 3/16" TEMPERED

‘\i AIR SPACE
3/16" TEMPERED

y/
7

ALUM SPACER
18 GA. X 1-1/2' LONG
BRAD NAILS (TYP.)

(1" FROM CORNERS
&4'0.C.)

C:) GLAZING DETAIL
True Divided Lite

8.88"

:
|

PANEL INSERT

BOTTOM
RAIL

/"4 \ VERTICAL CROSS SECTION

\Z/

]
L
by 0
i
Jo 4
€= g ]
¥ D a
0 . .M =
0w Om o
@ 2. 3
uw RN
c¥ wlhe g
oS E 0 <
z9s Z
T ul <09 §
Cr g<cn @
> Jgo 0
2>, @
D> W
Zow §
P 9 m x
@ Qe o
° 238% u
g Emgo
= =)
o = o
o :)o..cgtf
& poa g
=
]
7))
& <
X
E & @
3 [=
0
o

CERTIFICATE OF REGISTRATION # F—11852

v g
=< <
O[r ~J =
NS Pl
al |, <
Z° |35 %o
NRERT
Lo |3 8%
Elg al oo
— <
6 n - 3
= o
6) &
@ <
o a
>—
tn
%)
=z
o
()
o
=
<
a
o
pzd
oatE: 9/29/15
scAaLe:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4565

SHEET 2 OF 7

© 2015 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOJ aNIanaing

‘MY S 1DZ

2S8LL—d # NOILVYLSIO3IY 4O 3ILvOIdIL¥3D
SH33NION3 TVYNOISS340dd 40 advOo8 SvX3l

LELE'6S9'C L8

"ON 8auoyd
GBSEE 14 OdMWIPA OSZ Xog .o.mgg

*ONI ‘SINVLINSNOD 9NIa1INg

SZLYOL# "3'd Svx3aL

‘3°'d ‘IPlWYDS "4 uopuk] :Ag peJodalg sjuawnooq

SNOILYAT T3

SNOISIATY

Ad

31vd

'ON

‘ATEW3SSY J0 1yvd

JK
LFS

4000 JOOM

SNOS aNV S3A3LS

:19N3d0dd

oaTE: 9/29/15

N.T.S.

SCALE:

DWG. BY:

CHK. BY:

DRAWING NO.:

TX—4565
-

oF_7_

SHEET

ssnta
L o

see
....................

SEE HARDWARE CHART
(TYP.)

Wopm

KNOB:

"J" Series
"J" Series

DEADBOLT:

MANUFACTURER|

DEXTER

o

XX

<

T'€ 'BMP'89-595p-X L\sBuimelg\su] Jo 3daq sexa) - g\1usueuLIdd - SUOS pue SaA3IS\SIUBID\Y




"ON| SLNVLINSNOJ aNIaTing "Mm'd s 102 ﬁu

ZS8LL—4 # NOILVYISIOZN 40 3LVOIHILY3D SNOISINIY -
SYIINIONI TYNOISSIS0Hd 40 a¥vOo8 Svxal SNOILD3S SSOND TVINOZINOH Ag 31va [ON
L616°'659°CLY 'ON 8uoyd

S6SES 4 OdUIDA 0gZ xog .o.mgg ‘ATBNISSY 40 Ldvd
"ONI 'SINVLINSNOD 9NIaTINg

JK
LFS
oF 2.,

N.T.S.
4

d00d doom
CZLHOL# '3'd SwXalL SNOS ANV S3A3LS
‘3'd ‘IPIWYDOS "4 uopuk] :Ag peupdaig sjuswnooq 1109Na0Yd

TX—4565

oATE: 9,/29/15

SCALE

DWG. BY:
CHK. BY:
DRAWING NO.:
SHEET

.........
.

B

s,

.
..............

tces

.......
-----

.....

.

\ DRYWALL

\h.. . .-
T 7 oreseanet WY
1y \els
DR

7/: Y EXT. SHEATHING

f

=i

/" 2"\ HORIZONTAL CROSS SECTION

|———

—_—

0.14" MIN.
C-SINK (TYP.)
7

INTERIOR

EXTERIOR

Ives 458 Flush Bolt w/ Strike plate
@ Head and Sill attached
w/ #8 x 1-1/2" PFH Wood Screws (2)

27

7“3\ HORIZONTAL CROSS SECTION

4/
EXTERIOR

3

EXTERIOR
INTERIOR

0.14" MIN.

C-SINK (TYP.)
EXT. SHEATHIN67 ? ? ?
3

/"1 "\ HORIZONTAL CROSS SECTION

DRYWALL /

T'p 'BMP 89-595p-X 1\sBuimesg\sug Jo 1daq sexa] - g\iuauewiIdd - SUOS pue sans)S\sJudlD\?



“ON| SLNVLINSNOJ aNIaiing "Mm'd s Loz @

Zs8lLl—d # NOILVYLSIOFY 40 ILVOIILY30 SNOISIAIY
SY3IANIONI TYNOISSIH0¥d 40 Q¥vod Svyxal mzo_.%%%\wmw\m/omo Ag 31vd |[ON|w| | ¢l o 7_
. . . | L
6 : . AR 2
coece s oo o Xom o \SVK» KIBN3SSY 90 Lavd W M Sl 9|
"ONI 'SINVLINSNOO ONIaTiNg AN 2| 57
¥00a aOOM o |El&le X2
€ZLYOL# "3'd SvXal SNOS ONV S3AILS il le|e|® m
‘J'd ‘IPIWYDS "4 uopui :Ag paipdaid sjuswnooqg 1109Na0Yd = m W m“q m %
L
B
o
g ¢
® \a = 8
/A‘
=
. @ IN S
. N7 &
oz Ly
- (® N 4
< o < 11111111717 Q
;/ &
o<
—V’ (9]
. - —
) 2ls
_ ' m o
I3 U T n
i bR...M
— = 2
_ =X wW,q_ o
s = mv
| [ N |
. & A
oz
= C\
® @6
V)
=
=
<
T _ ("dAL) INIS-O
.H. ‘NIW.71°0
>
(AN
/ / E
Y
S 3
[a%4 —_—
[T] =
Ol
~ )
a
/ 38
o
P &)
]
<
- 3]
< Wln..
N s p— >
> 7 )
u oz
3 @)
5> (a4
R ® &
e ® .

1'S 'BMp 89-595H-X 1\sBuimelg\suf Jo 1daq sexa] - g\IUsUBULIR - SUOS pue SaAd)S\sIUa!D\Y



U\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Drawings\TX-4565-68.dwg, 6.1

2X Framing and connection

to substrate to be design by
Architect or Engineer of Record.

2X BUCK—/

(TYP.)

WOOD 0

SILL (TYP.)

=

//? - _
(TYP.) ] T
S
S &
— . ~N
(TYP.)
- —_ = in T
SEE 2 = S
DETAIL 1 - 8 L . . Kl %
» A —L B - B - :
| i
wn
B SEE Tl = i . R
5 n
DETAIL 3 \ £ 3 <:
0 o~
ﬁl! ! \ ) I - _‘ e mn
‘I T
~— 6" (TYP,)
CONCRETE o FRAME ANCHORING STRIKE JAMB ASTRAGAL HINGE LOCATIONS
il PR\
P~ e~
- / ~ —
= B (11
HINGE DETAIL =T L=

Dm

: DETAIL 2
Inswing Trewine

Inswing

ui
" M)
3" (TYP.) - 0\.\_\;\2\::1}11 . \A ig
7" (TYP.) SexTiSE oty Q|28 & oy
SR Z L), O Eg o uWn
SALT IS T, e* 3 22
Sw iz et N |8y o8 &7
S5 iDim oi 2 a =27 2l
7 A} AU AlF t DI W b )
4;0,: b :L'_.:‘-~ (O CQ n - a3k
4 i 2T ox B o2 %
LI izi0 MZ il 200 %3
Ao 5T O'RE G 9,(—3
HE- g EoH ﬁ\—' 5% 7%
S (8] g0 UF
qh-ex "‘i] ?\D’C,::-' - § 5 "'0' gy
Mot 2 oxf LE
3 z @2 B W
R
(TYP.) & 502 i =
& [ g 5
m=
SEE DETAIL 2 £ § 0k
- g 4
me) | : SOlE
n -
il o
Z 3 G}
” 3 s | ¢
| °S|g
20 [y 8
I -REN
%) L
u A
L
~ <|
i [ g -
WOOD G SEE DETAIL 4 = a -
| %o % =
CONCRETE Q o &
— SILL (TYP.) &
| I L1l | |
\ / " " ?
3" (TYP.
Ul 4" (TYP.)
4" (TYP.)
FRAME ANCHORING 2
o
%}
>
L
(0
= e L
? 1’ I’ ll \\ / <
g -
i 1 -
= ': E. o
Z
oate: 9/29/15
@ scale:  N.T.S.
DWG. BY: JK
DEI'A.IL 3 DETAIL 4 cHK. BY:  LFS
Inswing |nswing DRAWING NO.:
TX—4565

SHEET 6 oF 7/

© 2015 R.W. BUILDING CONSULTANTS INC.



R\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Drawings\TX-4565-68.dwg, 7.1

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A | 2XFRAMING (G >= 0.42) WOOD
C | 1/4"MAX. SHIM SPACE -
D | 1/4"PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
F | #8 X 2-1/2 PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
P | #10 PFH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL
1| HEAD AND SIDE JAMB WOOD
7 | WEATHERSTRIP FOAM
8 | DOOR SWEEP WOOD
20 | INSWING SILL WOOD
21 | OUTSWING SILL WOOD
22 |4 x4"HINGE STEEL
23 | #9 X 3/4" PFH WOOD SCREW STEEL
24 | #8 X 3/4" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
33 | SURFACE BOLT SPACER -
34 | SURFACE BOLT (IVES 454 8" LONG) STEEL
35 | #8X 1" PFH WOOD SCREW STEEL
36 | SURFACE BOLT GUIDE PLATE STEEL
39 | #10X 2" SEXBOLT STEEL
40 | WOOD DOOR PANEL }
45 | ASTRAGAL WOOD

NOTE: WOOD DOOR COMPONENTS: MAHOGANY

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

O | | empEDMEnr | TOMASONRY | 70 ADIACENT

TYPE e e R ED G E i S ANCHOR:
ITW i - " "
TAPCON 1/4 1-1/ 2 4
ELCO n n " "
ULTRACON 1/4 1-1/4 1 4

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing

of wood screws to prevent the splitting of wood.

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

n n
pd =
On <=
n Qo E:_l (]
of |4 55
<o |3 = %
nO |5 wd
W c§> b SO
BT (Y 2
S 8|
S s
xx <<
[a o
455" &
= —
e ——
M
e —— .
z
o
| . | 2
. 24 | i
%
FRAME
5.63" ' L
% <
. fa)
o
Z
B DATE: 9/29/15
‘\ﬁl SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
@ INSWING THRESHOLD TX—4565

SHEET 7 oF 7

© 2015 R.W. BUILDING CONSULTANTS INC.



